RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Amending Enrollment Resolution Nos. 08-682, 09-167, 09-369, 09-434, 09-575. 10-020, 10-103, 10-401, 10-439, 11-033, 11-121, and 11-566 to Correct Names and/or Roll Numbers of Enrollment Applicants)

Orozco, Cyanna A.

Flores, Adreanna C.

Achoka, Makayla N.

Moreno, Marice S.F.

Pazos-Federico, Luciano

Lopez, Roman I.

		RESOLUTION NO. 12-036									
	WHEREAS, the Tohono O'odham Legislative Council is vested with the power to enact la										
Ì		ordinances governing the enrollment and adoption of members (Article II, Section 2									
		and Article VI, Section 1 (h) of the Constitution of the Tohono O'odham Nation); and									
	WHEREAS,	, Articles VI and VII of the Nation's Enrollment Ordinance provide that the Enrollment									
				responsible for reviewing enrollment							
recommendations to the Legislative Council regarding the eligibility of appl											
	(Ordinance No. 05-81, as amended; 14 T.O.C. Chapter 1); and										
	WHEREAS.										
WHEREAS, the Enrollment Program has determined that a number of resolutions approvi											
				umbers; and	names of applicants and/or						
	WHEREAS			,							
	WHEREAS,			Program therefore recommends that the	e below-cited resolutions be						
∦			ded accor								
				RESOLVED by the Tohono O'odham Le							
		resolu	ition liste	d below is amended upon the effective dat	e of that resolution to reflect						
		the co	rrected n	ames and/or roll numbers as listed here	in.						
		Resolu	tion#	Incorrect Information	Correct Information						
I		1.	08-682	4269-B-08 Torres, Gabriel V.	4296-B-08						
		2.	09-167	4336-B-08 Gutierrez, Vanessa M.	4336-B-05						
		3.	09-369	2661-SO-09 Garcia, Aiden E.	Garcia, Adrian E.						
		4 .	09-434	5697-S-09 Conde, Kyle R.	Conde, Kyla R.						
ľ		5. -	09-575	2088-GB-02 Regalado, Roland A.	Regalado, Ronald A.						
		6. -	10-020	2609-GB-09 Carbajal Lizarraga, Odalys S.	Carbajal Lizarraga, Odalys A.						
		7.	10-103	4194-B-04 Leonard, Erica	4194-B-06						
		8.	10-401	4057-GA-10 Steel, Bravere S.	Steele, Bravere S.						

3601-CK-08 Orozco, Cyana A.

5897-S-10 Achoka, Akayla N.

2154-ST-11 Lopez, Ramon I.

6019-S-11 Moreno, Marice C.F.

2172-P-04 Flores, Adreanna C.C.

8911-ND-10 Pazos-Frederico, Luciano

30

25

26

27

28

29

10-439

10-439

11-033

11-121

11-121

11-566

9.

10.

11.

12.

13.

14.

1 2

3

5

6 7

8 9

10 11 12

31

32

	RESOLUTION NO. <u>12-036</u> (Amending Enrollment Resolution Nos. 08-682, 09-167, 09-369, 09-434, 09-575, 10-020, 10-103, 10-401, 10-439, 11-033, 11-121, and 11-566 to Correct Names and/or Roll Numbers of Enrollment Applicants) Page 2 of 3
1	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 12 TH Day
2 3	of JANUARY, 2012 a meeting at which a quorum was present with a vote of 2.304.90:FOR -0-
4	AGAINST; 475.70 [02] NOT VOTING; and [03] ABSENT, pursuant to the powers vested in the Council by Section 2 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'odham
5	Nation, adopted by the Tohono O'odham Nation on January 18, 1986; and approved by the Acting
6	Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16
7 8	of the Act of June 18, 1934 (48 Stat. 984).
9	TOHONO O'ODIVAN I FOICI ATIVE CONVOY
10	TOHONO O'ODHAM LEGISLATIVE COUNCIL
11	The Kong I
12	Timothy Joaquin, Legislative Chairman
13	I miothy Joaquin, Legislative Chairman
14	20 day of January, 2012
15	uay or tanuary, 2012
16	ATTEST:
17	
18	- Jimu Japa
19	Evonne Wilson, Legislative Secretary
20	·
21	12 day of <u>Fanuary</u> , 2012.
22	
23	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham
24	Nation on the <u>Jo</u> day of <u>Jennaly</u> , 2012 at <u>3'4/</u> o'clock, <u>f</u> .M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
25	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
26	upon his approval or upon his failure to either approve or disapprove it within 48 hours of
27	submittal.
28	TOHONO O'ODHAM LEGISLATIVE COUNCIL
29	
30	Mund Menal to
31	Timothy Joaquin, Legislative Chairman
32	
33	
34	
35	2 4 C
36	on the day of
37	115000
38	[] DISAPPROVED at \(\frac{\mathcal{L}'\sigma'}{\sigma'} \) o'clock, \(\biggle \llock \), M.
39 40	\sim 1.
40	$A \cup A \cup A \cup A$
42	
43	NED NORRIS, JR., CHAIRMAN
44	TOHONO O'ODHAM NATION

	RESOLUTION NO. <u>12-036</u> (Amending Enrollment Resolution Nos. 08-682, 09-167, 09-369, 09-434, 09-575, 10-020, 10-103, 10-401, 10 439, 11-033, 11-121, and 11-566 to Correct Names and/or Roll Numbers of Enrollment Applicants) Page 3 of 3						
1	Returned to the Legislative Secretary on the <u>23</u> day of						
2							
3	Juny , 2012, at 9:47 o'clock, A.M.						
4	William Sula						
5	- Mrs. Waln						
6	Evonne Wilson, Legislative Secretary						
7 8							
9							
10							
11							
12							
13							
14							
15							
16							
17							
18 19							
20							
21							
22							
23							
24							
25							
26							
27							
28							
29							
30							
31							
32							
33							
34							
35							
36							
37							
38							
39							

ACTION: AMENDING ENROLLMENT RESOLUTION NOS. 08-682, 09-167, 09-369, 09-434, 09-575, 10-020, 10-103, 10-401, 10-

439, 11-033, 11-121, AND 11-566 TO CORRECT NAMES AND/OR ROLL NUMBERS OF ENROLLMENT

APPLICANTS

MOVED: COUNCILWOMAN LORRAINE EILER

SECOND: COUNCILWOMAN MARY LOPEZ

DATE: JANUARY 12, 2012

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 342.0	1. FRANCES MIGUEL (Roberta Harvey)	171.0	Х		-	
	2. FRANCES G. ANTONE (Vernon Smith)	171.0	X			Х
CHUKUT KUK	1. ETHEL GARCIA (Sara Mae Williams)	151.10	X			
302.2	2. BILLMAN LOPEZ	151.10	X	:		
GU ACHI	1. TIMOTHY L. JOAQUIN (Rose Johnson Antone)	122.45	X			
244.9	2. CYNTHIA E. MANUEL(Absent) (Louis L. Johnson) (Present)	122.45	х			
GU VO	1. GRACE MANUEL (Floyd Flores)	113.35	x			
226.7	2. PAMELA ANGHILL (Roselda Lewis)	113.35	х			
HICKIWAN	1. LOUIS R. LOPEZ (Michelle Ortega)	93.15	x			
186.3	2. SANDRA ORTEGA	93.15	X			
PISINEMO	1. CHESTER ANTONE	100.35	х			
200.7	(Tony Murrietta) 2. EDWARD MANUEL (Gerald Fayuant)	100.35	x			х
SAN LUCY 204.6	1. LORRAINE EILER	102.30	X			
	2. JANA MONTANA (Gloria Ramirez)	102.30	X			
SAN XAVIER	1. HILARION CAMPUS	107.90	x	:		
215.8	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	107.90	X			
SCHUK TOAK 169.8	1. FRANCES B. CONDE	84.90	X		-	х
	2. FREDERICK JOSE (Phyllis Cachora)	84.90	Х			
SELLS	1. ARTHUR WILSON (Kimberly Mull)	237.85			X	
475.7	2. EVELYN B. JUAN MANUEL	237.85			x	
SIF OIDAK	1. NICHOLAS JOSE	105.95	x	_		-
211.9	2. MARY LOPÉZ	105.95	Х			
	2,780.60	2,304.90	-0-	475.70 [02]	[03]	